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WORKSHEET


IDEAL GAS LAW PROBLEMS - A				DATE  _____________





At 22 degrees and 4.09 atmospheres, 4.8 liters of a gas has a mass of 3.18 grams.  What is the molecular weight of the gas ?





























If 660 milliliters of a gas has a mass of 2.9 grams at STP, what is the molecular wt. of the gas ?
































Compute the mass of 4.9 liters of propane, (molecular wt. = 44 g/n)  at STP.
































Using data from problem 3, calculate the density of propane.





























How many liters of oxygen gas; O2  at STP can be obtained from 1400 grams of Potassium chlorate;  KClO3 ?  The unbalanced equation is below ?





		___ KClO3 (  ___ KCl  +  ___ O2   























Show two different ways to solve the following:





	At -46 degrees centigrade and 710 mm Hg ,  816 milliliters of a gas has a mass of 2.9 grams.  Calculate the molecular weight of the gas.
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At 22 degrees and 4.09 atmospheres, 1.8 liters of a gas has a mass of 3.18 grams.  What is the molecular weight of the gas ?





























If 600 milliliters of a gas has a mass of 2.9 grams at STP, what is the molecular wt. of the gas ?
































Compute the mass of 1.9 liters of propane, (molecular wt. = 44 g/n)  at STP.
































Using data from problem 3, calculate the density of propane.





























How many liters of oxygen gas; O2  at STP can be obtained from  400 grams of Potassium chlorate;  KClO3 ?  The unbalanced equation is below ?





		___ KClO3 (  ___ KCl  +  ___ O2   























Show two different ways to solve the following:





	At -16 degrees centigrade and 710 mm Hg ,  816 milliliters of a gas has a mass of 2.9 grams.  Calculate the molecular weight of the gas.
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At 22 degrees and 1.09 atmospheres, 1.8 liters of a gas has a mass of 3.18 grams.  What is the molecular weight of the gas ?





























If 600 milliliters of a gas has a mass of 2.00  grams at STP, what is the molecular wt. of the gas ?
































Compute the mass of 1.0 liters of propane, (molecular wt. = 44 g/n)  at STP.
































Using data from problem 3, calculate the density of propane.





























How many liters of oxygen gas; O2  at STP can be obtained from 100 grams of Potassium chlorate;  KClO3 ?  The unbalanced equation is below ?





		___ KClO3 (  ___ KCl  +  ___ O2   
































Show two different ways to solve the following:





	At -16 degrees centigrade and 710 mm Hg ,  816 milliliters of a gas has a mass of 2.0 grams.  Calculate the molecular weight of the gas.







































































